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MATH IO2

EXAM 2 December 7,2018
Duration of Exam: g0 minutes

INSTRUCTIONS:

r No calculators may be used on the test.
r No books, no notes, no questions, an. no talking allowed.
o You must arways explain your ans\Mers and sHow youR woRKto receive fuII credit.

o Print (use cAprrAL LETTERS) and sign your name. GooD LucK!
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Student rD no: KE l

Signature:

(Check One):

(Selda Ktqiikqifqi
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Problem 1 (12 points)
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Using implicit differentiation determine y', where
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Prqb-Iem B- Lx f (r):2-*- *. = 4J2-3 a-
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(a) (A points) Determine the asymptotes of /, if they exist.
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(b) (12 poinis) Find the ,r*-r#?Tfhh is increasing/decreasing a,,d the i*tervals oir wirich.f
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(e) (+ points) Find the iocal maximumr local minimurn and inflection points of I if they exist.
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(d) (B points) Sketch a graph of /.



Problem 4 (18 points) If 2700 sn:2 of material is available to make a box with a square base ancl

(The volume of the square krox is V : fi2h, where r is the length of the side of the square base and
h is the height of the box,)
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Problem 5 Evaluate the followings.
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